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H -ATP
H -ATP ATP ADP
IREVER 1 | $2EUK 30mL X 1 #R
REURK 2 2EUR TmLX 1 iR
BH— TRIK 14mLX 1 iR 4°CIRTF
FIRTARJ L NMEIFISENESS, B 2mL
B = FIX 1 & A°CIRTF
K, BAARRE .
W= RIK 3mLX1 % A°CIRTF
FEETARJL MEIFENESS, B0 1.8mL %
7 FIX 1 & A°CIRTF
YK, SRAARRE .
FEETARL MEIFIENESS, B0 0.7mL %
gtk X1 & 20°C1RE
YK, SRAARRE .
w7 SRR 5mLX 1 R 4°CIRTF

: 021-54721350

: 15800441226 ( )




www.shjning.com

A AR mg X 1R ImAEETIN 1.8 mL #Y B &, FN23.2mL BYZ
=% 4°CIRTF
B: /& 2mLX 1R K, BRAAREER.
PG MR mgX 13 4°CIRTF EENARE, MAZNZE
[ ]
ImL 1cm
H -ATP
2
1 4
0.2g 1000 / 1mL 1
4 30009 20min
4 x16000g 20min
H+- ATP
200pL 2 20 200W
5s 3s 30 H - ATP
[ ] g (mL) 1 5-10
/ 104 mL 500~1000 1
2
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30min 740nm
25
EP

pL
1 7 — 210 225
g ] 30 30
== 45 45
gl 30 30

=N 60 60
B, BHE 5mine
w5l B 15
BA), 37°CHEE 20mine
AN 75 75
B4, 12000rpm, 4°CELy 5min, LE&AFM,

EP
EBER 300 300
gl 450 450

BA, ERFHE 15min, 740nm MEEEBEIRLE, AA=A IE-A R (B FRE—1

BEXR) o

1 y = 1.7406x - 0.0035 X
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y=1.7406x-0.0035
0.8 - RE= 0,9994
g o0 -
z
rh_
& 0.4 4
o
0.2 -
u ] ] ] ] r L]
0 0.1 0.2 0.3 0.4 0.5 0.6
fhiEdn  (pumol/mL)
2

ATP 1umol

(umol/h/mg prot)= [( A+0.0035)+1.7406%xV2] ~ VI1xCpr =T

=13.36%( A+0.0035)~+Cpr

3

ATP 1umol

(Mmol/h/g )=[( A+0.0035)+1.7406%xV2]+(WxV1+V)=+T

=13.36x( A+0.0035)+W

4

1 ATP 1pmol

(Mmol/h /104 cell)=[( A+0.0035)+1.7406xV2]+(500%V1+V)=+T

=0.027%( A+0.0035)

5
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ATP 1pmol

pmol/h/mL = [( A+0.0035)+1.7406xV2]+V1+T=13.36x( A+0.0035)

V--- imL V1--- 0.06mL

V2--- 0.465mL  T--- 1/3

W--- g 500--- 500

Cpr--- mg/mL BCA

1. 5pmol/mL 10mL

2. 0, 0.1, 0.2,0.3, 0.4, 0.5umol/mL
3.
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